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An eccentric pole 6m high is fixed into the

1 Volumetric strain is defined as which of the | 4
following? foundation. It carries a wire at the top and is free
s fagfa =t frr i @ fFw ¥ s ofonfea to move sideways. The cffective length of the
fopam e 27 poleis:
(A) .ﬁ% (B) EVF (A) 18m (B) 3m
(C] 'f;'— o} 51_5 (C) 6m | (D) 12Zm
(E)  Question not attempted
(E)  Question not attempted / aﬂﬂﬁ?r e o 6 e I Sy T e i T Gl HE
v e T ATt v S AT # g o o w=
2 Euler’s crippling load formula gives buckling ) gy F T S B
load of long columns that is the ultimate load a (A) 18HE (B) 3T
colurnn can take. Mathematically Euler’s formula (C) 6HIT _('D] 12 91T
can be expressed as (E) Nﬁﬁfﬁ‘l‘ﬂ
o 7 et e Wil o3 WA 1w
sire dam & <7 1 e v e ﬁrﬁﬁmémﬁl 5 If Young's modulus ‘E” is equal to bulk modulus
o ©9 @ T F1 G ¥ w7 H = SN
et mmg L ‘K’ .-rl‘scn t‘hc value of Pmssc_m s ratio is;
afiy i At B SATEET ATE K % AR,
A) P:“’}% ®) P=”jf" S ST 10 8,
© L8 o p-BH & in T
ar I (Dy 113
(E)  Question nol attempted £ mgﬂﬁ?r oy | (E) Question not atlcmpted / a-Tiirﬁ'rT Ve
3 If I’ is moment.of inertia, ‘R’ is radius of 6 In the displacement method of structural analysis,
curvature, ‘E” is modulus of elasticity, ‘M’ is the basic unknowns are:
bending moment, * o ” is bending stress and 'y’ s (A) Moment and displacement
the distance from neutral axis, the flexure formula {B) Forces
1s: | . (C) Displaccment and forces
afz 1 w3 HTE?f 2, *R* FFa1 fisar 2, ‘B’ (D) Displacement and rotations
mm AT 8, ‘M 3 GHEﬁ 8 0 dHT ()  Question nat attempted
;ﬁaa%am'y‘amﬁ?aaﬁaj%jrwqg wCETee sy o foreare fafir #, et v &
‘ fren (A) 3Tl 3 fereares
(A 7=5=F ©) .if;:é’.z% (B) &
© H-2-£ o | BEE IR (C)  foreurm s e
L Iy ss Ty (D)  faeure siogi .
(E}  Question not allempted / 373w g (E) ﬂgﬂﬁﬂﬁﬂ i

3
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7

In moment distribution method, the sum of

distribution factor of all members meeting at joint

is always:

(A)  Greater than one
(B) One

(C) Zero

(D) Less than onc
(E) Question not attempted

et forr fafer o, wae w frer amet ot gt

& foraor e &7 9w waT
(A) WIAE  (B) @
€ I (D) THTFH
(E) =@ T '

Degree of static indeterminacy of a rigid joined
2D plane frame having 12 members, 3 reaction
components and L1 joints is:

12 ETa] (members), 3 FafshaT geai HR 11
el I ©F F2R 99 2D anae i F i
(A) 2 (B) 6

cy 3 (D) 8

(E)  Qucstion not attempted / FHAIE 54

Which one of the following is tfue of a statistically

determinate beam?

(A) The beam is ‘supported on three roller
supports

(B) One end is fixed and the other is simply
supported

(C) Both the ends are fixed !

(D} The beam overhangs over two roller
supports

(E) Question not attempted

e i @ a1 aifeads w9 & Faffea =fm

Fandaad?

(A)  oftm e e el 9 et &

(B) o o fe & ¥ gH e ¥

) driorferd

(D) FmA e ageAt a e gé @

(E) Igai@ s

E3]

10

11

The simply supported beam shown in the figur.
is-

w

A é\ B

T C 9]
=

4 ¥

(A) Indeterminate and unstable
(B) Determinate and slable
(C) Determinate and unstable
(D) Indetcrminate and stable

(E) Question not attempted

%ﬁﬁﬁ@mwmaﬂﬁﬁfﬂaﬁﬂ%

(a) afafera sfiv s,
@) it et ferx

() it siwarfer
(@)  arffera i fem

(E) EufawH

In Rajasthan, Bamboo forcsts is sub-type of
which of the following forest?

(A) Tropical Deciduous Forest

(B} Trepical Thorn Forest

(Cy Tidal Forest

(D)  Sub-tropical Mountain Forest

(E)  Question not attempted

USTEAT 3 A % S Prafafae § @ frg g
I-TFL R

(A)  3IrHfeeefy gofardt a7

(B) Inrrfaedly Siear a9

(C) wafoaw
(D) et sfeaieitar wefefrr
(B) eraf@wy
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12 Kesarbagh wildlifc sanctuary is situated in:-

(A)
(€)
(E)

Baran {B) Dholpur
Alwar (D) Phalodi

Question not attempted

FHET TAAT IO Hfm

(A)
(€)
(E)

and UB)  HiETX
AT (D) wAE
AN T

13 Which of the following environmental issues is

highlighted by Indira Gandhi Canal in Rajasthan?

(A) Soil Salinity

(B)Y Air Pollution

(C) Woise Pollution

(D) Human Migration

(E) Qucstion not attempted
30 Tt TR ueewE | fefafaa @ fem
qafarefir 52, v g ST 27
(A) FeTeauEaY :
(B) SIS

(Cy =t vg

(D) HEE IEH

(E) TTaita 92

14  The statement not correet about the Desert Soil of

Rajasthan is-
(A) Tt can absorb and hold the water much
i (B) This soil is displaced by winds
’ (C) It keeps more salinity
(D) This soil is found in"Western Rajasthan
(E) Question not attempted

T Y e firdt & an d sE-ar w9 adr
T &7
{A)ﬁgﬁﬁmﬁmmﬁﬁﬂaﬂttmw

AFdT &

(B firdt wamait g forrenfie erft @

(©)

RS U E AR ELGIRLE il

(D)= fugh afenft vrereen & i st 2

(E)

E3] 4%

it 94

15

16

17

Udaipur region lies under which of the following
agro-climatic zone of Rajasthan?

(A)  Sub-humid Southern Plain Zone

(B)  Arid Western Plain Zone

(C)  TIrrigated North Western Plain Zone

(D)} Semi Arid Eastern Plain Zone

(E)  Queslion not attempted

FEAQ A U & Fefafe & @ e e
ST & 3 stria oA &7 3

(A) 39-31% ferelt fert & .@i
(B)  Tr=h wferdt At &k i ;
(C) fforg s aferdt Az g

(D)) 57 77 et A i

€y araf@ s

Nagaur breed of cow is found prominently in
which of the following places of Rajasthan?

{(A) Udaipur (B)
(C) Hanumangarh (D)

Bikaner
Kota
(E)}  Question not attempted

vt A i Ty g & frefafaa 8 8

T T YT § WS e 87

(A)  ITWEK, ®)  dfiE
(C) ®HETE (D) FH
(E) i vy

In Rajasthan, Anta power project is based on
which source?

(A) Atomic Energy (B) Water

{C) Coal (D) Gas

(E)  Question not attempted
o & a7 forera witter R E o S
(A) I S (B) W=
(C) =gar (D) W
(E) ity
[Cnntd...
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18

19

20

.

The Magnetic bearing of line AB is 135° 30",
What will be the true bearing, if the declination is
5°15°wW?

@ AB i {whr fawm 1350 307 ¥ AR gEE
5° 15" W &, df wel faem a1 anfie

(A) 130°15° (B). 140°45°

(Cy 135°30° (D) 130°45°

(E)  Question nat attempted / aﬂ'ﬂﬁﬁ 4

What is *SAR” in remole sensing, a technology
for producing fine-resolution images from a
resolution limited radar system?

(A)
(B) Synthetic Amay Radar

Systematic Array Radar

C) Synthetic Aperture Radar
(D) Synthetic Apron Radar

(E) Question not altempted

fode SRITH “SAR® FT R, S Hiferq fesfieqgr am
et e & af e aveht it 4T &
AFATE B?

() foeeifes TER

@) fEfsfien

() fuafes sratEr

(D) fadfes oF Er

(E) uf@ws

Father of GIS is known as ;
(term related to surveying)
(A)
(B) Roger James

(C) Roger Tomlinson

Jurovich

(D) Richard

(E) Question not attempted
sﬁm%ﬁmﬁmwﬁmw%;
(aeor § e fla 72)

(A) wofrE (B) TSI
() UsrdmfdsT (D) f=d
(E) agafta w4

E3] &

21

22

_(B)

D)

If the path of an irrigation canal is below the bed
level of a natural stream, the type of cross-
drainage structure provided is:

{A) Lecvel Crossing

{B) Sluice gate

(C) Aqueduct

(D) Super Passage

(E)  Question not attempted

afy Riwr Tt 1 Aanl o EfE ST
AoTET A A ¥ WL e I are w3
TTEAT T T

(A) oad i
(B)\/EHF e
(C) ulrEER
(D) ForEs
(E) uica va

Which of the following is not the main cause for

soil salinity and sodicity?

(A} Use of heavy machinery, resulting in no

‘ soil compaction

Icrigation mismanagement

(C) Poor land levelling

Leaching without adequate drainage

(E}  Question not attempted

frferfiaa & & @ frdl & Taorar ofK el

(ehfefir) wr e o TE

(A) W w1 I9dm, Rres efemresy
ferdt w1 wE 2 e

(B) =g =1 Fueiaw

(C) W TR &1 @ e

(D)  waiw STt et % form Freaem

(E) o7afd war
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24

25

The arca between the two isohyets 40cm and
60cm is 100km?, and that between 55cm and 45
cm is 100km™ What is the average depth of
annual precipitation (use isohycatal method) over
the basin of 200 km??

(A 550cm (B)
(C) 500cm ()
(E) Quecstion not attempied

A w40 el 60 A ¥ w7
A 100 6 2, o 55 et 3t 45 3y 3 oftey
F1 &rhen 100 flt? 1 200 R 3 e w A

wmmﬁ:mmﬂﬁ]ﬁaﬂwm
T 27 '

50 em

Scm

(A) 550%wt (B) 50 ¥t
(C)  s00¥f (D). 5 &t
(E)  HTaf@ wx

According to Rajasthan Public Service Guaranteé
Act 2011, the penalty amount for not providing
service is:-

(A) Rs. 250 per day

{B) Rs. 100 per day

(C) Rs. 150 per day

(D)  Rs. 200 per day

(E) Question nolattenipted

TSR i Tt sifufre 2011 % aEn
A IR TE T 9T @A Tfy 2

(A) w2s0wfafer By % 100 wfafes

© =w.1s09fafzm (D) % 200 WA

(E) Tfaftays

Which of the following is the most fire resistance
paint?

{A) Cement Paint (B)  Asbestos paint

(C) Qil paint (D) Plastic paint
(E)  Question nol attempted

e 9 8 e S gl srfins arfirindt &0
Ay ®HRT (B) TEEW T2
(C) 3iEade (D) s i
(k) FFEauy

E3] @

26

27

P

Ring and Ball apparatus is used for the following
test of bitumen:

(A)
(B) Penetration

Softening Point

(C) Viscosity
(D) Ductility
(E)  Question not attempted

Tor 3T s SuaT =61 v fagda 3 foafuafaa
wiie % fow foran smar @:

(A) T feig (B) w&W
(C) waHw (D) =
(E) _ iafa wy

The'process of adding water to quicklime in order
10 convert into hydrated lime is known as:.

(A) Calcination (B)  Quenching
(C) Hydration (D) Slaking

(E)  Question not attempted

5 3 <73 ) e e o o wrert 3 for s
forem it b =01 s = ST AT 2

(A) ST B)
(C)  wwERR (D)

(E) i wxr

bl C
TAfET

Le-chatelier’s apparatus is used to find, which of
the following properties of cement?
(A)  Compressive strength of cementy,
(B)  Workability of cementX,
(C)  Soundness of cement -
(D) Initial sctting time of cement
(E)  Question not allempted
& - e s @ sy e ¥ frefafe
T A - e e 3 R fee s &
(A)  Hiiz & ddves vie
(By itz oy Frdsfrerar
(Cy vz it wreet
(D) e & yrifires g gmy
(E) ormfEwy
[ Contd...
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29

A mass of liquid weighs 500N when exposed to
standard earth’s gravity g = 9.8 m/s%, Mass of the
liquid will be:

T Jet o RIS ¢ = 9.8 m/s? W9 T A
9T A 1 ZSFH W SOON BT 81 T 1 Ze7qH
B

(A 1.96x 102N

(B) 4900 kg

(C) SIN

(D) Slkg
(E) Question not attempted / Nﬁﬁﬁﬁ' B

The assumption that the plane scctions before

bending remains plane after bending is used in:-

(A) Only in the ultimate method of design

(B) In the working stress method of design and
ultimate method of design

(C) In the limit state method and  ultimate
method of design

(D) In both working stress-and limit state
method of design

(E)  Question not attempted

77 OROT o6 HA @ 9E GHAS S FHEA F a8

guAd e &, F= gwin e | fFa e 2 -

(A) e fesre i aifem fafu

() feses Y Fmdsfie ra fafir # ai fesmea
&7 sifaw fafa o

(C) T syerear ffu § ot fesmga 6 sifaw
fafu o

(D) fesrga i FRfAfer aAIT A W ST
i fafert §

(E) 3rafd w4

E3] &

31

32

Characteristic  strength eof M20 concrete s
20 MPa. What is the number of cubes having
28 days compressive strength  preater  than
20 Mpa out of 100 cubes made with the concrete?

M20 F3h12Z &t srfiraefors 7f 20 MPa ?1 &z
Fad 100 A7 G 28 foq & @i 70tk 20 Mpa @

arfir arer T o e et 27
(A) 100 (B) 80
{(C)y 95 (D) 50

(E) Question not atternpted | FTatE 9g

Modulus _of elasticity of concrete is increased
with-

(A) Ancrcase in age

(B) Higher W/C ratio

{C) Shorter curing p}:;i:iod

(D) Lesser vibration

(E) Question not .‘lttcﬁ"lptcd

ashie 3 TeTeHT w1 B i R ATy g 8
() smHaE

(B 3= W/C Jfumd

(C) M IY=T 3afy

(D) HHHRIA

(E) orafaws

According to 18 800 : 2007, the minimum pitch
of the rivets shall not be less than-

1S 800 : 2007 % 317N, fazw i =77 fw fm=
@ & el e wfe

(A) 1.5d (B)
(€ 3.0d (D)

2.5d
2.0d

(E)  Question not attempted / 3TTafta 94
[ Contd...
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34

s

A propped cantilever beam of span ‘L’ and
constant plastic moment capacity ‘Mp” carries a
concentrated load at mid span, then the load at
collapse will be-

g L s fert wefiesn st e sMp @
O R gan Sfireftat ditn wor e wo o Wk
W TR T 2, A o v g -

(A)  11.76 Mp/L
B) 2MpL

(C) 4Mp/L
(D) 6 Mp/L

(E)

Question nat attempted / Al W

Some steels do not show yield plateau and show
continuous curve. For such steel, how is [he yield

strength obtained?

(A) By drawing initial secant-modulus
(B) By drawing 0.5% offsct of the strain
(C) By drawing 0.2% offset of the strain
(D) By drawing initial tangent

(E)  Question not attempted

FO e AT (yield plateau) et famry 3
¥ et 7 famd 1 08 e ¥ o, diee Sy
R W STt 27

(A)  rifir S arres wffees
(B)  TAF0.5% ATz Wigam
(C)  WAF(.2% 3wz Wivsy
(D) ifivs: wet Yar wgw

(E) 7Iofta gz

36

37

Why are bricks soaked in water before using in

brick masonary?

(A)

(B)
JO

For reducing efflorescence
For removing dust

For preventing depletion of moisture from

cement mortar
(D)
(E)
32 fog & 3wm =19 @ wed 8 & ot § o
i s 22

For reducing air voids

Question not attempted

(A) - BT T R F o

(B~ U w2t & fa

(C)  wime deft & 7oft o wheft Y Tt 3 forw
(D) =g feferdi 6t a0 & fa

(E) afaws

The type of bond in which every other course

contains both headers and shoulders/stretchers is

called-

(A)  Flemish Bond

(B) English Bond

{C) Russian Bond

(D)  Mixed Bond

(E)  Question not atternpted

=Y % e it e awt e e i viresy

T A wfirer S0 ¥, 58w we 8
(A)  wifire s
(B) 3FawrEy
(C) Wy
(D) Preeay
(C) vl wor

| Contd...
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39

40

The most important purpose of frog in a brick is
to:
(A)
(B)

(D)
(E) Question nol attempted

e ¥ T T Al et 39 2

(A) ‘EEE &M FF T § IR F
(B) 3z i femmae gura & foag

(C) 3¢ AR & = detad e =
(D) S 9 FF &1

(E) 3daftd v

Improve insulation by providing ‘hollows’
For improving appearance of brick
Form keyed joint between brick and

mortar.
Reduce the weight of brick.

IfY is unit weight of fluid ip_Nf_m:’, Qis discharge
in m%s and Hy, is head added to the flow in m.
In case of work done over a (luid, the power input
m the flow is ;

gz yzaar @ vR N/m? H 2, et Q misis &
23, , m ¥ T E ST TATER &

7a O¥ fiFw U e & A, yare § 9rEt §YE
‘P’ 2l

Y
(B) PO,

.Y

r=%- ®

Question not attempted f’aﬂﬂ?lﬁ?f‘;[’:{

(C) P=0Q.H,.Y

(E)

The equation of motion for laminar flow of a real

fluid is:

(A) Hagen — Poiscuille Equation
(B) Navier —Stokes Equation
(C) Euler's Equation

(D) Bemnoulli’s Equation

(E)  Question not attempted

STt et gard & et yare % e i
qfieRT 8

(A)  RTH-GTEEIEE AR
(B) Afaat- e qHIHT
(C) ot [T

(D)  @HTeft AT

(E) Faitaud

E3] %

41

42

When thc Mach number is less than unity, the

flow is called:

(A) Hyper-Sonic flow

(B) Sonic flow

(C) Supersonic flow

(D)  Sub-Sonic flow

(E) f_;)ucstion not attempted

S B GE&AT Ueh & 0 Bl &, A1 W4T8 i el Srdl
2

(A) EER-FIHS ¥aT®
(B) Wifiem vaT®

(C) FIEIHE Yaw
(D). GF-HIF TG
(E) efmwd

IfCy,Ce, Ciand C,are the hydraulic coefficients
of an orifice , then :

Where, Cy= coefficient of velocity

C. = Coefficient of contraction

Cg4 = coefficient of discharge

C; = coefficient of retention

g Cy, Ce. Cyd 3R C; forelt fog (orifice) Ed
m@%’ﬂi@ﬁ'ﬁ. T

wel, Cy = A T

Ce = ¥F= TIH

Cd =ﬁf¥ﬁh‘gﬂﬁa¥

C, = ST VTR

(A) C,=1+C2ICy
(B) Cy=Cc+Cy
(C) Cg=Cc*xCy
. Cy
D) C.=tT,
(E) Question not attempted / Eﬂﬁﬁﬂ pE

| Contd...
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43

Consider a fluid flow through an orifice of arca | 45 An assumption for the Bernouli’s cquation is:
0.8 m? with an actual discharge of 800 lit/s. If the (A) Flow is turbulent
velocity of flow through the orifice is 2m/s, then (B) Flow is rotalional
the coefficient of discharge is: (C) Flow is compressible
0.8 m? &9% 97 wF fog (orifice) T B T (D)  Flow is steady
et 5 tT{l e ﬁ-ﬂm Tl (E)  Question not attempted
800 feuaes 1 af2 fox (orifice) § B v 31 N
&’T2m-’s%.?’l‘iﬁ'€é?ﬂ‘l‘3ﬂ$%‘. el a;ﬁaqqa;m%:
(A) 0.56 B) 068 (A) e wefe &
(C) 050 (D) 071 (B) vaT®TUff &
(E)  Question not attempted / ST v (€) wa®adifea &
44 Match List T with List 1| @) e
List T List1l () gpkds
a. Euler's equation I, Principle of
by a frec jet momentum 46 Ifa%is the area , P is the precipitation and *n’ is
b. Pressure exerted |11 Fquation for the number of raingauge stations in a catchment
by pas molecules conservation of arca, then weighted mean rainfall is:
Momentum gt ar %TF:I% PaaiE AR TATE &7 § a9t
c. Rotatinglawn  T1IL.  Momentum mﬁé@pﬁﬁm%\,ﬁrmﬁaaﬂmHﬁﬁ;
sprinkler equalion
d. Equation of IV, Bernouli’s equation (A) Z aP’ (B) Z aP?
motion along a W : zaz
Stream line '
Tl | el 11 R © %": ©
e o |
2, TEEEUTECCL) e i (E)  Question not attempted / AR
;':Ttrm
b. #g w M I W7 g F fow | 47 Lysimeler is used to measure:
I T g bipicau) (A)  wind speed
c. HHATEAM AW Il wEm wHiERy (B)  Humidity
ﬁ?!.IT:FaI (C)  Infiltration
d. MUTETEET V. aHe # adm D) Evapotranspiration
- nﬁ{m mﬁm i . ) (E)  Question not attempted
bc::(:c the correct answer from the oplions given el T ITET A f%lﬁ;ﬁﬁ?ﬂ -
13 fa e et v e N
(A)  a-Il, bel, -1V, d-111 (A)  E=rRtfy
(B) a-II, b-1V, c-I, d-l11 (B)  amar
(€©)  a-11, b-l, =111, d-1V (C) AT
(D) a-IL, b-lI, c-1, d-IV (D) AT
(E)  Question not attempled / 3TJAfd W% (E) Smf@ws

E3] {{'w/ 10 [ Contd...
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48

49

The Bowen ratio is defined as:

(A) Proportionality constant between heat
energy used up in evaporation and bulk
radiation from a water body

(B) The ratio of heat and vapour diffusivities

(C) Proportionality constant between vapour
heat flux and sensible heat flux

(D)} Ratio of actual evapotranspiration and
potential evapotranspiration

(E) Question not attempted

e ST I 36 TR arotia feram s 2:
arsfiE § ITAT Y T FEw TSl S

(A)
srafE @ feem are a2 fafeor & @fig
FTaTfaesar feert=

(B) ST 37T aTeq foraer &t 79I

(C) ITsq ITHT WaTE S HaAdT FoHT WalTe & st
STIERaT Rt

(D) SrafaE ardieasd St @9 areiedsT
T ST

(E) HwiCa 54

An isohyet is a line joining points of:

(A) Equal rainfall depth
(B) Equal temperaturelf
(C) Equal humidilyo(

(D) Equal evaporation

(E)  Question not attempted

o 9t vt fa=fafad ﬁr&mmﬁaﬂmr—ﬁ’tm%
wmT gt Terd

(A)

(B) THTH ATIAT
(C) | AT
(D)  |ET T
(E) 3waitd 94

E3] 4

11

50

51

52

—B)

A 6 hour storm has %cm of rainfall and the

resulting run off was 6cm. If ¢ index remains at

the same value, which one of the following i1s

runoffl due to 12em of rainfall in 9 hours in the

catchment?

(A) 9.0cm (B) 4.5cm

(C) 7.5cm (D) 6.0cm

(E)  Question not attempted

6 W2 % qEE # 9 WAt auf gd o gfomEEEy

STIETE 6 Aeft ol ATE & FEhih W HH TR,

A STeEw & § 9 g B 12 HH Ul & FIT HUAE

frefaftaa I g 87

(A) 9.0 (B) 4.5t

(C) 7.59Ht (D) 6.0@t

(E) » S{dft g

Bending moment *M” and Torque “T" are applied

on a solid circular shaft. If the maximum bending

stress is cqual to the ‘maximum shear stress

developed ,"M’ is equal to:

T AT M IREE T U S FAEHR TG

A A1 8 Afe Afhan ST Wiawe faeted

TR AT Tieae & SOET R, a7 M T R

(A) T/4 (B) T

(Cy T2 (D) 2T

(E)  Question not attempted / T T

Continuity equation is based on :

(A)  Principle of conservation of kinetic energy
Principle of conservation of mass

(C) Principle of conservation of momentum

(D) Principle of conservation of weight

(E)  Question not attempted

T WeiRTor 30 9 3 &:

(A)  "fas Faf v & fagia

(B) ZSTWH WTEIT & faaid

(C) | |eaaeT &7 firgia

(D) T HTE & g

(E) Tqaf@ gy

[ Contd...
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53

55

The correet definition of piczometric head is:

(AF

Sum of piczometric head and dynamic

head
(B)  Sum of datum head & pressure head
(C) Sum of datum head & velocity head
(D). Sum of piezometric head and velocily head
(E)  Qucstion not attempted
TS i (it ) i we fom
(A) =19 W e Sl g #ram
(B) IR T R o TS Fr A
(C) ST 3 Jr g =1 T
@) il ¥ i deifed da am
(E) afmws

The unit of dynamic viscosity in CGS unit js *

(A) Poise {B)  Stokes
(C) Newton (D)  Dyne
(E)  Question not attempted
Hisiiug gord § nfas wra frged
(A) digsr (B
€ = (D) =7
(E) orgafaya

If the diamcter of 2 capillary tube is doubled then
the capillary rise will be:

(A)

Trippled {B) Doubled
(C) Halved {D}  Unaffected
(E} Question not attempted

afe el Fame 76l 1 =g 2 @ e s o
FHIrFT Ieq™ B

(A) fapn 1)
(C) &mar (D) srfag
(E) saf@uy

E3] %
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56

57

When a contour interval is fixed between 95

and 0.50 m , it indicates

(A} A flatish slope

(B) Asteepslope

(C) High stecp sope -

(D) A hilly slope

(E) Question not attempted
9 A=A 30 0.25 3R 0.50 WX F oty oy
fopa wman 2, v ge @ wwn ®
(A)~ (U&EITE TAH '
(B) TF Eet e

(C) & Afu® @ gy
(D) U TEEleaH

(E) i ay

The operation of levelling across amy river is

termed as:

(A) Fly levelling

(B)  Profile levelling

(C)  Compound levelling

0¥ Reciprocal levelling

(E)  Question not atternpted

FoRE ot 71 errerefaeon ) s i e
(A) v S

(B)  SIIgaT drarfin

(€) e ki

(D) 9ERF (Reciprocal) arafei

(E) sqafmwy

[ Contd--
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58  The following record refers to an operation | 60  If WCB (Whole circle bearing ) of AB is 125°

involving reciprocal levelling. 45°, then find the value of quadrant bearing (AB).
Insirument af Stuffl readling on Hemarks II'F:: AB T WCB (‘H'Q'U‘f ad f\a‘ﬂf} 125° 45° % a‘.‘r
A B S ’
A 1.155 2505 Distance AN=5000 m aﬁw femt (AB) =1 A T Eﬁ'ﬁﬂm
H 0.9x5 2415 RL f A = 525300
(A) S53°I5°E (B) S§52°15E

S 125°45'E Wby S54°15E

Find the true RL of B : (<)
(A) 524.065m (B) 1.155m (E)  Question not attempted / ST w21
(C) 525.500 m (D) 526.500 m
(E)  Question not attcmptcd 61  Which fort is situated on a platcau which is
frafafias ArE ureaie gt 4 g6t & famous as the Plateau of Mesa?
TG FY weha Far 2l (A) Nahargarh (By Kumbhalgarh
[ v s el Rafarat (C) Chittorgath (D) Ranthambhor
A B
A 1153 2.595 T AB-500 m (E) _Question not attempted
R 0955 2415 A ¥ RL - 525,500 o
F e 37 TR T a2 < HET S BN A
B T aTEI T RL 1 Hif § fts 27 -
(A) 524.065H (B) 1.155HIX (A) TR0 THETE - T3]
525.500 HieT (D) 526.500 HIZ ;
(E) 3Taefa we ©) fritem ST AT §hg
. -——'_:_.__
(D) TRPR
59  [n the planc table survey the U-fork and Plumb- (@) Wﬁﬂ'ﬁﬂ

bob are required for:

(A) Marking the north-polc 62 Who among the following is the founder of

V('B)' Centering

(C) Levelling

Niranjani Sect?

(A) SaintHaridas

(D) Orientation (B) Laldas
(E) Question not attempted :I(;; -;;lﬁf:ﬂl:ﬂi |

- = e vy r T Ay a
S e ‘?{\'ﬁ kbl (E) Qucstin:: not attempted
mmmﬁmﬂii%ﬂ{ﬁﬁﬁ%? i
(A) mgamﬁ:ﬁmm (AJI 'wl_am[ GLERIRIEEY]
®) T (B) ©EH
(C) GaeIFT (©) T
(D)  ffa=rr (D) e
(B) Sraf@yd (E) afta 9

5 [ Contd...
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63

65

Who amonyg the following established thirty-six
workshops (Chhattis Karkhanas)?
Choose the most appropriate answer from the

options given below.

(A) Maharaja Balwant Singh

(B)  Maharaja Sawai Jai Singh

(C)  Sawai Madho Singh

(D}  Maharaja Mangal Singh

(E)  Question not anempted

Freforfan § & e oo Srart wfie fro
= fa o foraedt & & gy I ST
(A)  WerrS s9Eq fag

(B)  WERTST Had St

(C) warg mifde

(D) eI ATAtEE

(E) 3nia =

At'which place is the Abhaneri festival organised
by Tourism department of Rajasthan? Choose

the most appropriate answer from the options
given below.

(A) Dholpur (B)  Dausa

(C) Jalore (D) Chura

(E)  Question not atternpted

TSR & g faum g smist e g
T 9T AT s
ﬁﬁqimﬁwﬁﬁﬁmaﬁiﬁm T

(A) &R _B) Zrar

(C) R (D) 9%

(E) argafa vy

Who is the first prose writer of Rajasthani
literature?

(A) Nathmal Joshj

(B) Lakshmi Kumari Chundawat

(C) Vijaydan Detha

(D) Shiv Chandra Bhartiya

(E) Question not attempted

TSTETH AIfEed & Tam e S o 3

(A) TEEasft () A Fuare
() frememar (D) fraws g
(E) Hﬂﬂﬁ?{‘&fﬂ'

E3]

14

66

67

68

~

Which of the following fort was buily by Rajy
Man Singh Iin 1592AD?

(A) Kumbhalgarh Fort

(B) Mchrangarh Fort

(C) Chittorgarh Fort

(D) Amer Fort

(E)  Question not attempted
frafefaa § 8 wh-arfeer 15924 & TR HTfie
T ST S-<TET T4T 9T?

(A) TR feherr

(B) Fewane feherr oo

(C) feireTe fovem

(D) | AR forett

(E) ./ srafa v

Siliserh lake was built by:-

(A) Maharaja Rai Singh

(B)  Maharaja Vinaj_- Singh

(C) Mabharaja Jai Singh

(D) Maharaja Bakhtawar Singh
(E)  Question not alternpted
“ferciiers sfier w1 Frmtor Rews gror farar mar am
(A)  wemsT afie

(B) weRTST =y fife

(C) wEEeT vafhe

(D)  Wenwr aearfie

(E)  orufe wy

The speeific gravity and in-situ void ratio of 3
soil deposit are 2,71 and 0.7 respectively . Th¢
value of eritien| hydraulic gradientis____
U 7T A e et i g 9 ST

SRR 2,71 3 0.7 3 wwiferer erggiferes @ 7V
1 3

(A)  1oo (B) 0385
© 09 (D) 0.95
(E) " Question net attempted / TR T4

| Contd-
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69

70

T

The slope of the e-log P curve for a soil mass
BgIVES .

(A)  Cocfficient of volume compressibility, m,,
(B) Compression index, C

(C) Coeflicient of permeability, K-

(D)  Coefficient of conselidation, Cy,.

(E) Question not attempted

T T % faq S P aw & gae a1 @
(A)  3TTIE FHIS 0 71, my,

(B) Hded guhis, C,

(C)  TTOTHaT 1 TN, K

(D) HHEFA FTH, C,,

(E) ufayy

The vibratory roller js used for the compaction of

(A) Sill of high compressibility

(B) Moist silty sand

(C) Well graded drv sand

(D) Clay of medium compressibility
(E) Question not altempted

HYIe Vel 71 Iuan faa & He4 & foo
EICIEY,

(A) I=a g aTell 1.
(B) TR IH @

(C) =3 ave § Fifera e @
(D) weaw wdreriier art gt
(E) i@y

A foundation is considered as shallow if its depth

is

(A) Equal to or less than its width
AB) Lessthan | meter

(C) Greater than its width

(D) Greater than | meter

(E)  Question not attempted

O Hffa gueht A W @ afe saehy e B
(A) TEeh) =Erd & aU=T AT I\H FH
(B) 1dim@FH

(C) zwey=frerd & At

(D) 1 e d sfus

(E) apaftays

B3] 4

|-

15

72

73

74

_Coulomb’s theory of earth pressure is based on

(A) Empirical rules.

(B) The theory of clasticily

(C) The theory of plasticity.
() E\r’cdgc theory

(E) Question not attempted

TR T FeT (S, T ST 2l

(A) TS IR

(B) g o

(C) venffe # frer

(D) o= fagf

() 3mafa us

Find thc void ratio in a soil sample. If n=40%,
&g 1hax=2.2gfcm?, €y min=1.45g/cm’® and

——

(3=2.65.
ﬁ%q@ﬁﬁ?ﬁaﬁwmﬁl af& n=40%,
eq max=2.2g/cm?, ey min=1.45g/cm3 R
G=2.65.

(A) 0767 (B) 0.667
(€) 0567 (D)  0.285
(E)  Question not attempted / HIHA T4

In soil classification and identification ‘M’ stands

for-

(A) Peat

(B) Clay

(€ Silt .

(D)  Organic silt and clays

(E)  Question not attempted
Ty aifaor ST gET 6 M o anef &
(A e

(B) feet foght

(C) mg

(D) e g o faa firdt
(E) argaia s

| Contd...
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75

76

Waler is flowing under constant head of 40cm in
a soil sample 20cm long and 10cm? in sectional
arca. Quantity of flow in 4 minutes is 30cm3.
Find K.

(A)  4.75x 107" em/min.
(B)  2.75x 107" cv/min
(C) 175 % 107" em/min
(D) 3.75% 107" em/min
(E)  Question not attempted

2nﬂtﬁaﬁaﬁrmﬁn‘1ﬁ;m’mmﬁq§r%
W_%ﬂmﬁtﬁ%ﬁmsﬁﬁaﬁmagm%l
4 572 wame ot wmm 30 6 2 K IRy

(A) 475107 aftfie
(B) 2.75x 107! &fiffiyrz
(C)  1.75x 107! ¥efi/firz
(D) 3.75x 107! &fi/fime
(E) afauy

In a slab, the minimum reinforcerent for Fe 250

provided is-

(A) 0.15% of its gross sectional area

(B) 0.10% ofits'gross sectional area
(C) 0.12% of its gross sectional area
(D) 0.14% of its gross sectional area

(E)  Question not attempted

U FA H Fe 250 % Fo =gan gedimor wem fim
1 8-

(A) THE Ghel STV &I &7 0.15%
(B) 8 HEA ST &6 #10.10%
(C) T9% Waa ST Bt 47 0,129
(D) 6 T ST BT 7 0, 149
(E) A

E3] @

16

77

78

79

X

Relation between Young’s

Modulyg
characteristic strength of concrete i5

according to IS 456: 2000. =
1§ 456: 2000 % IFTET AT F 173, sy

RREE
(A) E.=5500yfck
(B) E.=500yfck
(C) E.=5000fck
(D) E =700/fck
(E)  Question not attempted / SR g1

For lightly reinforced sections in slabs, beam ang

columns ctc. the value of slump should be-

(A)  10-40 mm (B)  75-100 mm

(C)  50-100 mm (D) 40-75 mm

(E)  Question not attempted
R, ot i e e et R e H
T A A e -

(A)  10-40 fiydf (E) 75-100 foreft

(C) s0-100fFHt (D) 40-75

(E) oafe@ uy '

Inadequate compaction during concrete castitg
results in-

(A)
(B)
(©)
(D}
(B} " Question not altempted

Y e s e st e 35 T
B R -

(A)  =eftfen sy fufiiver

(B) wifén

(C) = =ifay

(D) Tt

(E)  3raf@ vy

Bleeding and Scgregation
Bleeding
Honey combing

Scgrepation

I Coﬂtd-“
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80

slab are respectively-
HfeT, Fierm, i+ W § qer @i
AR T (i) Fat (et 3 gen &

(A)
(B)
(©)
(D)
(B

81

(A)
(B)
©
(D)
(E)

YT S | FC T 92 7 B W@ #) 9fT
37T 39 FI TH (@1 FI €H I TIE FG-8, aF T
YOS B¢ SO 39 HUIed FE % {60 w7

=fEw?

(A)
(B)
(©)
(D)
(E)

82

(A)
(B)
©)
(D)
(E)

E3) \%

The minimum clear (nominal) covers (in mm) to

the main steel bars in footing, column, beam and

A hexagon drawn with a polygen command has
six lines. If you try to delete one of its lines,

whole hexagon will be deleted, What should be
done to edit it?

In order to draw lines of infinite length in Aulo
CAD, which of the following command is used?
3TET CAD # s ward €1 wnd diad F fo,
freferfa o @ fa Fwie @1 39T faHar s 82

75,40, 25,15

50, 40, 20, 20

50, 40, 25, 20

75, 40, 35, 20

Question not attempted faﬂﬁﬁ?r!r’ﬁ

Use explode command

Use array command

Erasc with erase command

Delete the hexagon and draw again

Question not attem pt’cd

TFIATS FHHIS T STANT T
w0 (¥0) FHTS I YA AL
A FAiS H faerg

gyt ot firerd i i @ arg
sl v

X LINE
T LINE
Z LINE

X REF
Question not attempted / 3TTATA T4

17

83

84

A stream having flow of 30m3/s and BOD
concentration of 10mg/l. receives indusirial
waste water having flow of 5m’/s and BOD
of 120mg/l.. The BOD

concentration (mg/L) of stream at downward

concentration

point of meeting of stream with industrial waste

i

15=

30 m¥/s ¥aTE 3 10 mg/L. BOD &z arefi v
4T H 5 m3/s TGTE 3T 120 mg/L. BOD Hizaramar
afrenfier arafite st a1mar Riefenfs smfae &
arr ur F Ao o A frerard g @ oA

BOD Higal (mg/L) &:-

(A) 600 mg/L

(B) 120 mg/L

(Cf N25.71 mg/L

1" 30 mg/L

(E)  Question not attempted / 3TJxTE 94

[f the total hardness and alkalinity of a sample of

“water are 350mg/L and 150mg/L (CaCO, scale)

respectively, then its carbenate and non-carbonate

hardness (in units of mg/T) will be respectively-

(A) 100and 350
(B) 150 and 200
(C) 150 and 350
(D) 200 and 350
(E)  Question not attempted

afe ot & W T A FA FwISRaAT I A
A 350mg/L 3T 150mg/L (CaCO, Fahel) 8,
Tl wEhE ot M-FEAE F3RAr (mg/l &

FRTEAN ) TEAE: Bt

(A) 100 37T 350
(B) 150 31 200
(C) 1503350
(D) 200 31X 350
(Ey 3r{afeE gy

| Contd...



[Page No. 2 10 23 - CIVIL DEGREE —

85

86

87

The sewage treatment plant which part require
large area :-

(A)  Trickling filter

(B) Bioclogical filter

(C)  Septic tank

(D)  Oxidation pond

(E)  Question not attempted

Hias Freiz e ¥ f frm v & fog g am
ATATEFAT Bl 2:-

(A ffom free

(B) dmerted feeex

(C) uficwew

(D) it A"

(E) TafEwy

For maximum discharge in an egg shaped sewer,

the ratio of depth of flow to vertical diameter.is:-

33 & AR F iR ¥ stfrmwan fowor ¥ e

TATE 1 e 3R SeaTo sam 7 S 8-
(A) 1.0 (B)  0.95
(C) 033 (D) . 0.50

(E)  Question not attempted / ﬂgﬂﬁ?{ Bk

In which zone of pollution in river stream, the
presence of dissolved oxygen will be minimum?

(A)

Zone of clear waier

(B) Zone of degradation
(C)  Zone of active decomposition
(D)  Zone of recovery

(E)  Question not auempted

7 1 ¥ s s o o 6 e i
i1 Iufeafa =am enfiy

(A) 6Tt 1 8

(B) EOTH 4

(C) HIT T9aeT w1 8

(D)  AifH o &
(E) orqaf@ wa

E3]
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89

%0

=

As per IRC66 : 1976, the intermedigy, st

distance should be:-
IRC66 : |976%a@n1qmwﬁaﬁm%;
(A) 28SD :
(B) (SSD+OSD)2’
(C) (OSD-SSD)12
(D)

(E)  Question not attempted / 37wfeg vz

208D

As per IRC52 : 2019, the maximum cambey that
should be provided on earth road is :-

(A)" 1in16.7 (B)
(C) 1in25 (D)

1in 20
1in 40

(E) Question not attempted

I A, 52 : 2019 % e, 30t dvs v

fepar T e stfepaw e d:
(A) 16.7%71 (B) 2071
(C) 25%1 (D) 40%1
(E) dgafawy :

The safe stopping sight distance for a given road
is 120m and passing “distance is 250m. The
intermediate sight distance is:-

(A) 120m (B)
(C) S500m (D)

240 m
250 m

(E)  Question not attempted

%mﬁwwﬁmmrmmmﬁﬁﬂ”“

S e e o gt 250 e A 2T
&

(A) 1204z (B) 240 7T

(C) 500 e (D) 250

E »

(E) wrqwfm war [Coﬂt‘l"'

-
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91

92

93

WLATT 9E9el

About 70% of the irrigation in Rajasthan is from:-
(A) Nadiand Bawdi

(B)
©)

Rivers and Canal
Ponds and Lakes
(D)
(E)
T e 70% fFEE . wER
(A) AT AR AL

(B) Afet afltawt

(C) dreTs AR

(D) TGS

(E) A wer

Taps and tube wells

Question not attempted

Which of the following lake is not a salt water
lake?
(A)
© (D)
(E) Question not attempted

Frffiaa § & F- gite @it o i ge w2
(B) IrEM

(C) hiaEd- Dy WP

(E) Irfaf@ ¥

Didwana
Sambhar

Pachpadra (B)

Kolayat

During yecar 2014-2018, approximatcly how
much length of the National Highway is added

with reference to Rajasthan?

{(A) 6800 km (B) 3600 km

(C) 8300 km (D) 9500 km

(E)  Question not attempted

a6 2014-2018 % 20, T & i 7 UG
e £ waré i faraet A mé 2

(A) 6800 foprt (B) 3600 farft

(C) 8300 fapet (D) 9500 fereft

(E) ofgafa 94

ES]&P’

19

94

95

96

Approximately how many types of minerals are

found in Rajasthan ~? (Choose the most
appropriate  answer from the options given

below)

ey § aman fegd @frs o s €2 ¢fi= e
e faedt # € wad I9GE I )

(A) 67 (B) 23

(€ 33 (D) 44

(E)  Question not attempted / STTATE TA

Which of the following schedule contains 29

functional items placed ‘within the preview of

Panchayats? ;

(A) TwellthSchedule

(B) FEighth Schedule

(C) Tenth’Schedule

(DY /Eleventh Schedule

{EY ~ Question nol atlempted

frmfrfias § ¥ e el § Tardl & G 29

(A) el syt
(B) el STgEt
(C) = SR
(D) el ST
(E) aia v

Which two municipal corporations are added to
Rajasthan Municipal Corporation in September
20247

(A) Ajmer, Alwar

(B) Udaipur, Bikaner

(C) Bhilwada and Pali

(D) Jodhpur, North Kota
(F)  Question nat attempted

firqrare 2024 7 TerEdT TR P § FE-A & TR
ooy i o &

(A) TSI, IeTaT

(B) I, AT
(C) iierarst i ATl
(D) SITIYE, I HA
(E) ufca s

[ Contd...
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97

98

Which of the following statement is not correct?

(A) The Chief Minister holds the office during
the pleasure of the governor

{B) The Constitution does not contain any
specific procedure for the selection and
appointment of the Chief Minister.

{C) Before the chief minister enters his office,
the governor administers to him the oaths
of office and secrecy.

(D)  The term of the Chief Minister is fixed

(E} Quesrion not attempted

fefafar i snssmw e

(A)  HEIHHE TgaTe 1 7Sl % 95 9 ST w
2l

(B) wfaam # geawt F w7 i fagfe & fae
=1 fafire wfswn 3 21

(C) Tt F YR Tew & § T Tt
37 2 S Tiraigar 1 oy faem 8

(D) et 1 FrdEre ffka g 2

(E) aa'g‘ﬂﬁ?rwr

A State Human Rights Commission can inquire

into violation of human rights onl¥ in respect of

subjects mentioned in the:-

(A) Union List (List I},-State List (List I) and
Concurrent List(List T1T)

(B) Union List(List 1) and State List (List IT)

{C) State List (List II) and Concurrent List
(List I1I)

{D) Union List (List I) and Concurrent List
(List II)

(E)}) Question not attempted

T WTAANaER S Sae frefafaa ot &

Hen] W HEATIFT & Ieeiaq 61 979 &1 gl 2.

(A) w3 aph ), vl gt ) si
weradt et @

(B)  F g @ 1) ST g e

(©) TS T (gt 1) fcgmad? e e )

() F T (el 1) shoamadi geh et )

() SrERa A

E3]
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100

The State In formation Commission has a duty 1,

receive complaints from any person:-

(A) whothinks information given is incomple,
or falsc or mislcading

(B) who has been refused information that wqg
requested

(C) who has reccived no response 1o hisfhe
information request within the specifigg
time limits

(D) who thinks the fees charged is unreasonable

(E) Question not attempted

T g T 1 78 Fen @ o 7 Frfatan

safiral & e 9TH F-
(A).@ﬁiﬁméﬁﬁﬁrwﬁwm@m@m
U &

m}{.ﬁrﬁwhﬁrréa_ﬁméﬁﬁwaﬁmma‘r

(C) ol Fauffe v wimm & vfiat 38 g
ST YT I8 Whaferan 7 foredt e

(D) < for& v @ o5 <t i Frg e @

(B) Frgafa o

Who among the following was the First State
Election Commissioner of Rajasthan?

(A)  Shri Prem Singh Mehra

(B)  Shri N.R. Bhasin

(C)  Shri Amar Singh Rathore

(D) Shri AK. Pandey

(E}  Question not attempted

fr=fafae & & aemwem ¥ wom ve @ AIE
A

(A) ’:ﬁﬁqﬁrﬁﬂm
(B) off w3, wefty

(©) =t svrfie wak
(D) st g
(E) ryefmay

| Contd.-
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101 In 1986 who among the following was awarded

Murtidevi Award?

(A) Kaviraj Shyamal Das
(B) Birbal Singh

(C) Vijaydan Detha

(D) Kanhaiya Lal Scthia
(E) Question not attempted

_%ﬁﬁﬂ%%ﬁﬁﬂ%ﬂﬂﬁﬂaﬁgmﬁ
geata foam g

(A) AU WHeeE
) s fas
() fasaEE
(D) T disa
(E) ITuie v
102 Name the soldier who revolted in Barrackpore
Cantt. and killed an officer in 18577
(A)y Dalip Singh (B) - Vijay Kudarat
(C) Mangal Pandey (D) Sher Singh
(E) Qucstion not attempted
30 & o1 AT Farse e 1857 H AeRg 2 A
firgre v afte o srfereTd 1 g A
(A) oelvide ®) ffeg e
(C) WrEagE (D) IrEE
(E) sgufta s
103  Mewar Praja Mandal was established by:-
(A) Amritlal Payak
(B) Manikya Lal Verma
(C) Mithalal Vyas
(D) Bhogilal Pandya
(E)  Question not attempted

TaTS Yo o waTaAT faen g o eft?
(A) omyaenel U (B) ,_Hifirrrere au]
(C) diemes® (D) Wrfiere 93
(E) oraita wa

E3| W
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Which of the following Riyasat were merged in
2" stage and named as Rajasthan Sangh?

(A) DBanswara, Bundi, Kishangarh, Tonk,
Pratapgarh

(B) Bikaner, Jnisalmer

(C) Bharatpur, Karauli, Alwar

(D) Alwar, Kota, Udaipur, Bikancr

(E)}  Question not attempted

Frerfefae o & G frma @1 goeamm § fem e
eI, AT

(B) Y
(C)  ¥TAYY, FA, e — Fed U—
(D) T, FI2T, IFATT, FFTT 4

(E) r{afmwy

Who ameng (he ‘following took part in Indian
freedom movenient and was the first woman in

Rajasthan wo/gct arrested?

(A)/ Rama Devi (B) Kishori Devi
(€) “Anjana Devi (D) Janakidevi Bajaj
(E)  Question not altempted

# & frgY vty wdEar g0 § 9
forar 3 fivegam #13 aTeft T i gl Hiwe
ot Reperte
(A) TTaEm (B) foriry &=t Pt
(C) st (D) SIS TS
() ormfaws -

How many km of intérnational border is there
between Rajasthan and Pakistan?

(A) 1232km (B) 1070 km
(C) 876km (D) 448 km
(E)  Question not attempted

AR o s foRae et i
FHawred w22 Peel cwF
(A) 1232t (B) 1070 &t
(C) 876 faeit (D) 448 frdt
(E) af@ v

What percentage of the land area of Rajasthan is
covered by Hadoti Plateau?

{A) |7 percent (B) 6 percent

(C) 9 percent (D) 5.8 percent

(G}  Question not attempled

TSy ¥ fra s s ox Erghdt @1 qen
el BT 82

(A) 17 9fawa (B) 6 wfawra

(C) 9 ufawa (D) 15.8 Wfewra

(B) @i o
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In Rajasthan, which of the following river is
associated with inland drainage system?

(A) Mahi (B} Chambal

(C) Banas (D) 5Sabi

(E}  Question not attempted

ueey §, frefafas § 8 - 38 sadeia 9

fraprelt omredt & wafira &7

(A) T (B) =&
(C) =™ (D) @
(E) rgufta g

Which of the following region of Rajasthan does
not have very humid or humid climate?

(A) Sirohi (B)
(C) Bikaner (13)
{E) Question not attempled

TRy & ffataa 8 § fam &= i Sear] 959
TS AT AF T &7

Udaipur
Korta

(a) fatd (B) X
(C) =wELS” (D) T
(E) aftayd

Which of the following statement, i$ not correct

about Alluvial soil in Rajasthan?

(A) This soil is very useful for the production
of wheat, mustardyand cotton

{B) This soil contains enough quantity of lime
and iron

(C) It holds light brown red colour

(D) This soil is found only in North districts of
Rajasthan

(E)  Question not attempted

TTEgH | e g & ai i frefafia § § #9-

o1 F47 U T 7

(A) AT, Tt 1, vt ot re & 3T & fau

a?aa'mrﬂ'?—"
(B) Wﬁiﬁﬁayaﬂtﬁmwhwﬁﬁm%
(C) 58 T OT T V[T &1ed B &
(D) 7% fidt Fae TSR F Il frei o ard
R GRS
(E) STgaie

E3| &

1
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113

22

The shift of the curve(all in meter units if < i
length of the long chord and ‘R’ is the radiyg of
curve) is:-

e o1 e (a3 S A Az L g
Frar e 2 R TR Bem ) 2

(A) LY6R (B) LR

(C) L¥24R (D) L¥2R

(F) Question not attempted / T w21

Some large cqarsc_ggg_rcgatcs are missing and
has goodifatigue and tensile strength. Such kind
of Bitaminous mix is known as:-

(A)) Unbounded mix

() Well-graded mix

1<)

(D) Open-graded mix

Gap-graded mix

-

(E} Question not atl.t_:mplcd
() 3 a1 50 e ¥ fagfiem i =
'SHET:FR'ETHTEIHT%:- -

(A) 3FaTIEE fopor

(B) =9 ot ¥ des fam
(C) Tg-s faspor

(D) 32 fzmy

(E) 7afE 9y

Pradhan Mantri Gram Sadak Yojana (PMGSY)
launched in the year 2000 aims to provide rurl
connectivity with all weather roads. It W

proposed 1o conncet the habitations of plain areds

of population more than 500 persons by the year=

¥ 2000 3 77 it 1§ s e A (1

‘{Wﬁmﬂﬁ]mﬁwwﬂmfmﬁ*ﬂﬂ'
WO w9 gE AT 21 A aF 500 ®

S R AT ATt et &l £y afeaat #1

W T T RARASIE R

(A) 2024 (B) 2005
(C) 2007 (D) 2010
(E)  Question not atiempted / A 4
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E3] H"Ii')

The convexity provided to the carriage way

between the crown and cdge of pavement is

known as:-

(A) Verticalcurve (B)  Gradicnt

(C) Camber (D)__ Kerbs

(E)  Question not attempted

pTer 3 T S AR 35 ofer Pt 3 =6 s <
T AT I T T F ST AT -

(A) afiFa=d (B) waurEr

©€) F=R (D) &

(E) uf@wy

The maximum allowable water content in

Bitumen sample should be:-
ﬂ_-_-_- 3

(A)  2%byweight (B) 0.1% by weight
(C) 0.2% by weight (D) 1% by weight

(E) Question not attempted

fagia = o sifrewan wied se wmnft 2+
HT%Q' ?

(A) WIS AR 2%

(B) W& ITIER0.1%

(C) ITeh AR 0.2%

(D) ¥R FTER 1%

(E) FFdia 94

Who among the following named ‘Raithan’ to

present day Rajasthan in 18297

(A)y V.N. Mishra

(B) George Thomas

(C) Colonel James Tod

(D) C.A. Hackent

(E)  Question not attempted
Frerfafia & & fema 1829 8 addar Trrer < AT
T T Baste Quatiom
(A) . g (B) Sirs oTHE

() wHawmdes (D) W e

(E)  raftaws

23
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119
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Who began excavations at Harappa in 19217

(A) B.XK.Thapar (B) Daya Ram Sahni
(C) S.R.Rao (D)  M.R. Mughal

(E)  Question not attempted

1921 ¥ e & ar fare 7 o1

(A EF oy (B) =AY HTeAT

(€) WARTT (D) UHAT G

(E) i@y

Who among the following associates the dynasty
of Guhils with the rulers of Vallabhi?

(A) Gopinath Sharma

(B)Y Jamecs Tod

(C) Abul Eazal

(D) Nainasi

(E) Question not attempted

Frfefaa § & 9 e % 9w & =l &
FE & e &

(A) TdETI It (B) SRR

(C) ¥ Fold (D) Fort

(E) ¥yl 9o

In 1539 Sher Shah Suri, defeated Humayun in the
battlc of - :

(A) Chanderi (B) Kannauj

(C) Panipat (D) Chausa

(E) Question not attempted

1539 5 INE FT 7 G foper g L

(A) e (B) =l

(C) uraa (D) =mEr

(C) sgafawy e

Famous architect Vidyadhar Bhattacharya

designed which of the following city of Rajasthan?

(A)  Ajmer {B) Jaisalmer
(Cy Jaipur {D) Bundi
(E) Question not attempted

g AR faemn e ¥ TSeE &
Frafafaa ¥ & w9 et w1 feamga fearam

(A) 3T (B) ST
(C) TR (D) <&
(E) oaf@ws
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